Black Vortex ICY DOCKK

Copyright © ICY DOCK International. All Rights Reserved. 650200 VER 1.0

ICY DOCIK’

www.icydock.com




Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® ‘FEICDUVT o EIEERAR @ 125 AR

Power adapter & Power cord

Device User manual !

Wechselrahmen Bedienungsanleitung Netateil & Str?mkab‘%' _
Produit Manuel d'utilisation Adap_tateun: dvahmen_talton
Base de conexiones Manual de instrucciones -& Cable d'alimentaiton

Adaptador de alimentacion

%2;::;:*% ?ﬁﬂﬁ% -& Cable de alimentacién
ERHS MR BR7H 75— & BRA—F
g A

| o] o] ] o
o o] o] o] e
| o] o] |

14PCS " 2pcs

eSATA & USB 3.0 cable
eSATA & USB 3.0 kabel
Céable eSATA & USB 3.0

#6-32 Screws for drive tray Extra spare drive trays
#6-32 Schrauben (fiir HDD-Carrier) ~ Der beiliegenden Laufwerk Tray
vis plates #6-32 pour le tiroir Plateau de disque dur incluse

Cable eSATA & USB 3.0 Tornillos de cabeza plana n°6-32 Bandeja de unidad proporcionados
eSATA & USB 3.0 —7J )L -para la bandeja de la unidad HERORA
eSATA & USB 3.0t HDDEE f+ 2 (#6-32) hAERER

eSATA & USB 3.0f&#i%k FER B IR (#6-32) SRR
REEMRL (#6-32)

Note: Please use the included screws to secure the drive(s

)

Device Information @ Gerateinformationen e Informations dispositif
@ Informacién del dispositivo ® A {AZEBE © H#EZ:REH © H{Kij R

A The Door Handle (Open the door from this side) B Foot stand

Griff der Frontklappe (zum Offnen linke Seite benutzen) StandfiiRe

La Poignée de Porte (Ouvre la porte de l'intérieur) Pieds

Asa de la puerta (para abrir la puerta desde este lado) Taco de apoyo
F7 N RILCHSRIALRBALEY) L5TH
FI#RIEF (FIMR A LLRARD A

ITHRIBF (IR F R k3

LED Indication - LED will show constant blue light after the hard drive is inserted into the
corresponding drive bay(s). LED will show flashing blue light when the corresponding hard
drive is being accessed. The LED will remain off if the corresponding drive bay is empty.

Status LED - Die LED leuchtet blau bei eingesetzter Festplatte (Gerat muss eingeschaltet
sein) und blinkt blau bei Zugriff auf die Festplatte. Die LED bleibt aus, wenn kein Laufwerk
eingesetzt wurde.

Indicateur LED - LED bleue lorsque le disque dur est inséré dans la baie (le bouton
dalimentation doit étre allumé) et clignottante bleue lorsque le disque est en transfert. La
LED s'éteindra si la baie est vide.

Indicador LED - El LED se ilumina en color azul después de insertar |a unidad de disco duro
en la bahia de unidad (el botén de alimentacion debe estar activado) y parpadeara en color
azul cuando se acceda a dicha unidad. EI LED permanecera apagado si la bahia de unidad
esta vacia.

LED A P4 —45—(BiREONL THDDEERE T HETIL—52 THY ST HDDEFHA B YR
TI—5 T EiE. HDDAELME A S T A EIEL ALY

LEDIE /M8 (BWiRIREILBENEIRELEDERBIES, FEARREAFLEDE BEEPI,
SRTERRAE AR SR

LEDIERAT (ERIRIZEF BNERELEDR2IEATIES, FERISIALED 2 B AT IR,
@R TATS)

Fan LED brightness control (High/Low/Off)

Schalter fiir LED Leuchtstérke (High/Low/Off)

Réglage de la LED de ventilation (Haut/Bas/Eteint)

El interruptor para controlar el brillo del LED del ventilador(alto/bajo/apagado)
FAN LEDBA % & & 2 (High/Low/Off)

RRBLEDRE:RHRME (High/Low/Off)

REBLEDRE AT HFX (High/Low/Off)

Fan Speed Control (High/Low/Off)

Liiftersteuerung (High/Low/Off)

Réglage de la Vitesse de Ventilation (Haut/Bas/Eteint)
Control de velocidad del ventilador (alto/bajo/apagado)
72 AE—RiEIOr ko —5— (High/Low/Off)

R\ ¥R A &7 B A (High/Low/Off)

RUEE 45 A5 71 % (High/Low/Off)




YAV/AINVAN

F  Power Switch
Ein- / Ausschalter
Bouton d'alimentation

Interruptor de encendido

| iy

N

G Power Port
Stromanschluss
Port d'alimentation

Puerto de alimentacion

iRm0

| eSATA Port J  EZ-Lock Switch
eSATA-Port EZ-Lock Verriegelung
Port eSATA Loquet EZ-Lock

Puerto eSATA

Conmutador EZ-Lock

eSATA R—h JOvkR7avY
eSATA#N FEAREHM
eSATAEN FEE BN

H USB 3.0 Port
USB 3.0-Port
Port USB 3.0
Puerto USB 3.0
USB 3.0 R—hk
USB 3.0#0
USB 3.0#0

3 Installation Guide @ Installationsanleitung ® Guide d'Installation ® Guia
de instalacion @ # R DFAAAAFIBEIC DT o RIESER o IRIEL T

<A> Pull the door handle from the left side to open the front door.

<A> Ziehen Sie an dem linken Griff der Frontklappe um diese zu 6ffnen.

<A> Tirer la poignée sur le coté gauche pour ouvrir la porte avant.

<A> Tire del asa de la puerta desde el lateral izquierdo para abrir la puerta delantera.
<A> ERIONUEILESINTIAVMNT7ERITET

<A> PR IR F B SRR .

<A> BITIRAEMIEF @ SMLF .

<B> Slide the EZ-lock switch to the right to unlock and remove the tray from the device. Use the
provided #6-32 screws to mount the hard drive onto the drive tray.

<B> Schieben Sie die Verriegelung nach rechts und entnehmen Sie den Tray. Installieren Sie
anschlielend Ihr SATA-Laufwerk mittels der beiliegenden #6-32 Schrauben in diesem.

<B> Pousser le loquet du plateau vers la droite pour déverrouiller et retirer le plateau, installer le
disque SATA en vous aidant des 6 vis disponibles.

<B> Desplace el conmutador hacia la derecha para desbloquear y extraer la bandeja.
A continuacién, monte la unidad SATA utilizando los tornillos #6-32 proporcionados.

<B> FLADDEAEHITHEIL TRV IERE. (FED#6-320C THDDZEELE Y
<B> RSN EAREMREE I, B2 UM A#6-329R 4% R S B ERERE .
<B> HE AN EARNEBRIE, & UMM #6322 L REEEFEHA .

—

#6-32 flat head screw




<C> Insert the drive tray(s) back into the device. Next, slide the EZ-tray lock switch to the left to lock.
Once completed, close the front panel to finish the installation.

<C> Setzen Sie den Tray wieder in das Gerét ein und schieben Sie die Verriegelung nach links
um diesen zu fixieren. SchlieBen Sie daraufhin die Frontklappe um die Laufwerksinstallation
abzuschlieRen.

<C> Insérer le plateau de disque dans le systeme, pousser le loquet du plateau vers la gauche
pour le verrouiller. Une fois fini, fermer la porte avant pour terminer l'installation.

<C> Vuelva insertar las bandejas de unidad en el dispositivo y desplace el conmutador de bloqueo
de la bandeja hacia la izquierda para bloquearla. Cuando termine, cierre el panel frontal para
finalizar la instalacion.

<C> HDDZERLAIZEIE % T /A—Iv—IZRL, LOCKEWSREMNH DL DFEAELITHEIL
FF ., JOVMRTEEHACNIEHDDDEE IFE T TY .

<C> §HEnR E LMK MBI IAHE, 34 SN ) BN ZRIRLOCK. IRE M EPIRTEARFERR R 2.
<C> BREEEEERERMEREE, HHMELKANZRTLOK. REXEIMRTEREERE.

<D> Connect the power adapter to the unit and plug the interface cable one end to the unit one
end to the PC or Mac.

<D> SchlieRen Sie das Netzteil an, und verbinden Sie ein Ende des Schnittstellenkabels mit dem
Gerat und das andere Ende mit dem PC oder Mac.

<D> Branchez |'alimentation sur I'appareil, puis connectez le cable d'interface sur I'appareil et sur
le PC ou Mac.

<D> Conecte el adaptador de corriente a la unidad y enchufe el extremo del cable de interfaz al
extremo de la unidad y al PC o Mac.

<D> BRTE TRERKEERFL, 10 3—Tx2—R—TVERIALTRIKE/ VA OEFEIT>T
<FEE,

EHENN E SR E A R ERERE RO

g

<D> EMERREE, BIRERMAES, FRHES
b3 b3

<D> EREERER, EERIRMENERE FMNERETENNEENEE R BRENARO.

AV (INV/AN
NNV

“2@7 < U‘E]‘U

Clean the Dust Filter / Replace the Cooling Fan

® Reinigung des StaubschutZzfilters und Ersetzen des Lifter

® Nettoyer le filtre poussiere / Remplacer le Ventilateur

@ Limpiar el filtro de polvo / Reemplazar el ventilador de refrigeracion
e JVE—DY) == - mE T 7o DR

o RMEEIE. AEREAN @ IEMIBFE. REHREAR

<A> How to clean the dust filter - open the front door, pull the dust filter from the left side of the
door, and clean the filter.

<A> Zur Reinigung des Staubfilters bzw. zur Entnahme fiir einen Liifterwechsel 6ffnen Sie die
Frontklappe und entnehmen Sie den Staubfilter durch die linke Seite der Frontklappe.

<A> Comment nettoyer le filtre poussiére / Remplacer le Ventilateur - ouvrir la porte avant, tirer
le filtre / Remplacer le Ventilateur de c6té gauche de la porte, et nettoyer le filtre.

<A> Como limpiar el filtro de polvo. Abra la puerta delantera, tire de el filtro de polvo desde el
lateral izquierdo de la puerta y limpie el filtro.

<A> IRRJVERT T, ARILEFANDRID T T T L ANABIEHLTRYSNLET . 71 2% ER
Li-#& . TORBIZRL TS,

<A> FARIPIIRE, TEPIIRELE G MK EIBAMIE, EIMIHERTETEE, TREHRMLERE.
<A> FRITRE, MRS REEREEMAIE, ESMLHBIAEHTER, SRR EAEEE.




<B> How to replace the cooling fan - remove the dust filter from the device, unscrew the fan
screws and replace with the compatible cooling fan (120*120*25mm).

<B> Entfernen des Liifters: Entnehmen Sie den Staubfilter und I6sen Sie die Schrauben des
Lufters. Als Ersatz ist jeder Lufter gleichen Formats nutzbar (120*120*25mm).

<B> Comment remplacer le ventilateur - retirer le filtre du dispositif, dévisser les vis du ventilateur
et remplacer par un ventilateur compatible (120*120*25mm).

<B> Cémo reemplazar el ventilador de refrigeracion. Quite el filtro de polvo del dispositivo,
desatornille los tornillos del ventilador y cdmbielo por un ventilador de refrigeracion
compatible (120*120*25 mm).

<B> AHI7UDTBAELIT T4V A—ERYNL, T7VEBEL TV ROENLTEREDHD
(120x120x25mm)AEN 77 LELR D AE ITEEE L TRML TS,

<B> BRERR AR AMLIEE, BIRDEG%, WEEBHRMEEAN. AR A120%120%25mm.
<B> #ENERTHEEMEIEN, BIREEL, FEEREMELAN. KR H120%120%25mm,

NOTE e HINWEIS © Remarques ® NOTA o BS54 o ;T2 o &%

1.All product specifications are subject to change based on the actual product description We
reserve the right to change or modify any product specification(s) without notice.

2.I1CY DOCK will not be liable for any software, hardware, or data stored within or interfacing with
ICY DOCK products which results in damage or malfunction. ICY DOCK will only be responsible
for repairs and services of ICY DOCK products.

3. Due to different drive specifications for the drive access signal, some drives may not support the access LED.
If the LED does not function, but the user can read and write to the drive, it falls under this category. If the LED
does not function, and the drive cannot be read or written to, please contact us for troubleshooting.

4. To utilize the hot swap function, the host must also support hot swap. To check if your host supports
hot swap, please refer to the motherboard or controller card specifications and user manual.

5. For further questions or concerns about ICY DOCK products, please visit us at http://www.icydock.com

1.Wir behalten uns das Recht vor, die Produktspezifikation zu dndern. Jede Anderung der
Produktspezifikation kann ohne vorherige Ankiindigung vorgenommen werden.

2.Fir den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten
oder Schaden durch jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist
ICY DOCK nicht verantwortlich.ICY DOCK tbernimmt nur fiir die Reparatur von und
Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

3. Auf Grund unterschiedlicher Spezifikationen kann es vorkommen, dass manche Laufwerke das
HDD-Zugriffssignal nicht unterstiitzen. Dieser Fall trifft zu, wenn Sie Lese- und Schreibzugriff auf das Laufwerk
haben, die LED aber kein Zugriffssignal anzeigt. Sollten Sie keinen Lese- und Schreibzugriff auf das Laufwerk
haben und die LED auch nicht funktionieren, so kontaktieren Sie uns bitte zur zur Fehlerbehebung.

4.Um Hot Swap zu nutzen muss diese Funktion von dem Host unterstiitzt werden. Konsultieren Sie
hierfur bitte die Bedienungsanleitung Ihres Mainboards oder |hrer Controller-Karte.

5.Fur weitere Fragen im Zusammenhang mit ICY DOCK Produkten besuchen Sie bitte http://www.icydock.de.

1. Toute caractéristique du produit est sujette & étre modifiée par rapport a la description actuelle du produit.
Nous reservons le droit de changer ou modifier toute caractéristique du produit sans en avertir.

.La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de
ses propres produits.

. A cause des différentes spécifications des signaux d'acces, certains disques durs ne supportent pas
I'acces. Sila LED témoin ne s’allume pas, alors le disque dur n’est pas pris en charge, contactez-nous
pour un dépannage.

N

w

o

. Pour profiter pleinement la fonction Hot-Swap, vérifiez que votre configuration accepte également la
fonction Hot-Swap.

o

. Si vous souhaitez obtenir plus d'informations sur nos produits, venez visiter notre site : http://www.icydock fr

. Todas las especificaciones del producto estan sujetas a cambio en funcién de la descripcion del
producto real. Nos reservamos el derecho a cambiar o modificar cualquier especificacion del producto
sin previo aviso.

.ICY DOCK no asumira ninguna responsabilidad por ningln software, hardware o dato o
almacenado dentro de los productos ICY DOCK o que interactian con estos que dé lugar
danos o errores. ICY DOCK solamente se hara responsable de las reparaciones y servicios
de los productos ICY DOCK.

Debido a las diferentes especificaciones de las unidades para la sefial de acceso a dichas unidades,
algunas de estas puede que no admitan el LED de acceso. Si el LED no funciona pero el usuario
puede realizar operaciones de lectura y escritura en la unidad, dicho LED se encuentra dentro de esta
categoria. Si el LED no funciona y no se pueden realizar operaciones de lectura o escritura en la
unidad, péngase en contacto con nosotros para solucionar el problema.

N

e

I

. Para utilizar la funcién de intercambio en caliente, el dispositivo principal también debe admitir esta
funcién. Para comprobar sea el dispositivo principal admite la funcién de intercambio en caliente,
consulte las especificaciones y el manual del usuario de la placa base o de la tarjeta controladora.

o

. Si tiene alguna pregunta o duda acerca de los productos ICY DOCK, visite nos en el sitio web
http://www.icydock.com

MR BLUNBRBROT-OFELGLEESNDHELHYET,

 ARBEROBOERAAEC L T DOBRICHEBRENRELSE . BEBABRLZTEBETLHEEEE
WET, thOBBDREFICHLTET—I0EEEENELA,

. HDDH AEBHIRFA—D—ISKYRBYFET . BEIC K> T—EFHDDA AR R DLEDSY FITHIGTE
BWEEHBYET, LLT—EDFHAEELNMBE LTI ISIREICHENHYEL A LEDFV T RATLE
WERABETERVNE R, BHLEHEEN,

. 7 )L CHot-Swap#BEZ (£ AT %154 . HostfllbHot-Swap i BEISR I T 2R EABYET .

.ICY DOCKE GBI T 2B ML &1 (X84 D R— LR—http://www.icydock.com T J AL TLEELY,

IN)

w

(S

ARBAREYERRE ERSRBURYAE. WM BTSTEM.
 METEERAAEREMERLMAEMREZEE, AADELEABERZBEN(E, BRI bRERIRETEE.
SEEBARIRB TR R R AR, LBkl e A XI5 E MAILEDIE R B
. MRHIEHBIREME, BITHEIRE, NRLEETETTNELRASHIE, #HARM.

. EMSERMEMAHot-swap 9T AE, HlHostif th T X #iHot-swap T .

VAR % E AR, B0 B4R B A R4 - hitp://www.icydock.com.

N o

I

o

ARATENER RN, ERABUEYANE. MR, BRSITES.
 HMARHERAAFERHMERLEHEXREZHE, AR RAEBERERZRERTE, EREERERIRBERAR.
EABRLEDIME T S MARIRIBERRER S B AR, 5 — LR RN 5 RAILEDIE AT
TS, MRBBRTRGEE, WAZMRE, NREMETITRRTZEEHE, HERRI].

4. FH ST L EAHot-swapBITh&E, MHostifh 1 & X FHot-swapIi Bt

5. WERENE % F= @A, FRD b i S8 A 22 F B3 : hitp://www.icydock.com.

SIS




